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OPERATION - 175 - DAY -6 (POLITY & MATHS)

Which statement about the Election Commission is not

correct?

(a) It is a permanent and independent body

(b) It is responsible for getting conduct the elections of
President, Vice President and Municipal Corporations

(c) Article 324 of the Constitution envisages the provisions
relating to the Election Commission

(d) This is an all-India institution

CHH60 ) 6M6TuTILISH6HT 6T[HG D&M FifliicL6L?

(a) @8 @® HrHHY LOMID &SHATLOTET SienLoLILY

(b) smevau, slemenrd Hmeval) LOMHMILD LOMHESFITL S &6
GCaIgmeo BLSGHIUSDES @& AUTMILIL|

(c) sipflwsvemoife 324 eugl 1Nfley CHTH6L 3y eMevoTiLLD

QzrLjurer eNfsemer eulpmhi@Hme)
(d) @31 21dle0 @HHw HmieueLd

Who shall be the chairman of the state Consumer protections

council ?

a. The Minister in charge of Consumer affairs in the central
government

b. The Minister in charge of Consumer affairs in the state
government

c. The chief minister of the state

d. The governor of the state

LrHlev HISFCUTT UTGISTLIL 8661l &6meveur w2

a. HHW I78leL HISTCUMT alleuss TG EnS G QuTmILILITeT

ELOINT: 24y )

b. wrHleo yEMhsESH HISTCTT AT kS EDSELI
QUITMILILITET OO &)

C. LomHlev (&L

d. e spEnm

What kind of procedure should be followed to remove the

Chief Election Commissioner?

(a) As it is followed to remove the Chief Justice of High
Court

(b) As it is followed to remove the Judge of the Supreme
Court

(c) By passing a resolution in the Lok Sabha only

(d) None of the above

SHMEVENLD CHTH6L 3y 6M6TUTILINIT 558 6T60T60T LOT HFILIT 60T

B (Wenmenw LeTumm CeuesorBLd?

(a) 2wy BHWsiTD Femeveni BHUHmW ugei F&8LD

Q&g
Nerumouu@GHms

(b) &ufw CamiL BHuHmw ugeai F&80 QI
NetumouuGHm

(c) wésarameaiuneh Hnmerd HlanmCeunmiaig e ¢Lpsvld

L (HCw

(d) srgia)b @cvemev

Whose election is not held under the supervision of the Chief
Election Commissioner?

(a) Legislative Assembly (b) Vice President
(¢) Gram Panchayat (d) President
SNV CHTH60 3y emeuorifledr CLoMHUTTeHaUUTIED WIT(hemL LW
Cuj5H6L HmL QUM aTlLmev?

(a) eL.LOGUTemE (b) g1emevr
Remglug)
(c) &gmo uEFTLISF) (d) eorm&ug

Which qualification is given in the constitution to be elected
a commissioner of Election Commission?
(a) Being in Indian Administrative Service
(b) Shall have Experience of at least 5 years as a lawyer in a
High Court
(c) Completion of 35 years of age
(d) None of the above
CHTH6D ) 6M6TTWLIS F6TT 4, 60)6TTTUITITS
CaihasH&sULGMSDE ATHAWVMLOLILNGCD 6T6T6n &G
QsrH&sUUL(heTeng)?
(2) @BHw Hjeurs Cemeauilsd QUG
(b) 2wiBHoeTmsEed AIPSEMEGITS GMDHSS! 5
24,6501 (H & 61T
iU QUHMHI &8 Cauevar(HLd
(c) 35 euig) Hemmey (d) ergia|b @cvemev

Which of the following is not included in the qualification
for being a judge in the Supreme Court?
a. He/she should be a citizen of India.
b. He should be a respected jurist in the eyes of Parliament
c. He/She must be a judge in the High Court for at least 5
years
d. He/ She should be a lawyer in the High Court for at least
10 years
2 §& BHSleTmsHev BHUSHwrs QULUUGDHSHTET & GHulled
NeiTeumeueareummiev 67§ C&F&HsLILLaTlsL6mev?
a. sieuj QhHw Glgl&aTTS @(HS5 S Geusvor(HLd.
b. sieuj unymEpLETMSH6T LUMFeneuuileL ¢
AWM S &Gl
BHuSHwrs Qmés Geuetor(HLd
C. SlUf GOMBSHULFLD 5 9y 6001 (E &6 2 WFBHLo6iTm S Ho
BHULHWTES @([H&58 Ceuetor(HLd
d. sieuf GmMBBLLEFLD 10 96506 &6 2 W HLoeiTm S Hevd
QU&EHMIEGHITES Q(H&H8 Ceuctor®Ld

Who can remove the Judge of the Supreme Court?
a. Chief Justice of the Supreme Court
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10.

11.

b. Only the President
c. Only the Parliament
d. Both Parliament and President

2 &g Hlwerm HHuhenw wrgmed H&H& (LpiguLd?

a. 2. &8 hlnerm Hemevenio HHLL

b. gerrHud) L GCw C. UMImEhHLO6TMLD oL (HGLD
d. urpmELETMLD WHMID PerTHUS @yevBLD

Which of the following articles states about the
establishment of the Supreme Court?

NeirausLd 75Z156fl60 18 2 &8 HHnTmSmS Hmia|eug)
umhl soMIFDS)”
a. Article 176

c. Article 124

b. Article 153
d. Article 324

Which of the following is not matched correctly?
a. Article 145: salary of judges
b. Article 143: Power of President to consult with the
Supreme Court
c. Article 141: orders of the Supreme Court is applicable to
all courts of India
d. Article 139: Power of Supreme Court to issue writ petition
eiTeu(meueTeummiey 6Tg FRWMSL QUTHHEalleLemev?
a. Article 145: §&udsefeir gibuend
b. Article 143: 2_&& B&sTmSIL 60T H0HSTCLTEES
oarmuhufer SiHSTILD
c. Article 141: 2 &g BHwermsHer 2 5576 @HHwmeile
MO HG HHLOGTHRISEHSGW QUTHHGILD
d. Article 139: A wgismeu QeuefuiL 2 && SHineiTm S Hetr
S HSMLD

Who of the following is not the part of the committee to
select the CVC?

(a)Home Minister

(b)Leader of opposition in the Lok Sabha

(c) Prime Minister of India

(d)Leader of opposition in the Rajya Sabha

CVCoows Caimas®sELw (el s s eujseflsd
WM SIMISLD 6uHlssHaile06m60?

(a) 2.6TgIMM SMIDEEST

(b) wssarmauUNcL THISHHLHS Gemeveuly

(c) @bHwnedsr NygLog

(d) prawesureailsL aHlissL S &emeveuly

Which committee recommends establishing the Chief
Vigilance Commission in India?

(a)Santhanam Committee (b)Goipariya Committee
(c)Raj Mananar Committee  (d) None of the above
A@nHwralley smevamin aNBICV6T6NV SLOOLEI S MLDEHS
uflhGlemsGLD G T °
(a) smH@TaILD SLOI Iq

(¢) IR e G(19

(b) Casmuufwr G
(d) ergia)ib @svemev

12.

13.

14.

15.

16.

17.

18.

Which was the first Commonwealth country in the world to
adopt the Ombudsman system?

YL aVGLO6T (LPHMEMIW MHMISHASTEUITL. 2 606 (LPS6L
SMETAEUELS HIT([H 6TFI?

a) India b) Sweden

¢) New Zealand d) United Kingdom

Which state's Lokayukta's office is considered to be the
strongest in terms of power and scope?

THG IHlSH T CooTSH YW EST JWIEULSLD JHSTTLD
LHMILD CHTSHSLD IiigLILIHLUTEL LIS YLD EUEYICUTEISHITEHS

SHFHULGEHDG!?
a) Bihar b) Karnataka
¢) Andhra Pradesh d) Maharashtra

When did The Lokpal and Lokayuktas Act, 2013 came into
force?
GeomrdUmev LHMID CeoMd QYW|HGT FLL LD, 2013 TLUCUTS)

HEOL (LPOMES eUbSHSHI?
a) January 2013 b) May 2013
c¢) December 2013 d) January 2014

The RTI application is addressed to .

a. Chief Minister of the respective state

b. Prime Minister of India

c. President of India d. Public Information Officer
RTI @fleworeooriiun  &@ psaufluli UL Geieng).

a. SIhBHS LM pHevauf b. @pHwrelsr LNysLLHF

c. @hdHw ermHud d. Qurg &1L SiFBTH

The Right to Information Act, 2005 replaced which Act?
556160 JIMULD 2 feMLDEF FLL LD, 2005 6THSHE FLL MG
LTHMHIWG]?

a. Information Technology Act, 2000

b. Freedom of Information Act, 2002

c¢. Delimination Act, 2002 d. None of the above

Who is the Chief Information Commissioner (CIC) of India?
QHHWTI6HT &6EVENLD §&6U6D I 6M6TTTILIT (CIC) WIT?

a. Sudhir Bhargava b. Yashvardhan Kumar Sinha
c. Radha Krishna Mathur d. Bimal Julka

Name the online platform launched by the Ministry of
Women and Child Development to support women
entrepreneurs?

Quevsr AFMLHlEL P METCEUNT (55 (G ,HTEUTE CILICTHT S 61T LOMMILD
GWHMGEET CLUTL (H SMWEFHSHGHTL QAGHTLMHISLILLL
24,65T6M6V 60T FEMSHH 6T AUWIHTS GSMUITLQYLD?

A. Digital India B. Mahila E-haat

C. One Stop Centre Scheme  D. None of the above
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19.

20.

21.

22.

23.

Which scheme helps in the prevention of trafficking and
provide support for rescue, rehabilitation, reintegration and
repatriation of women?
ALELEFHMVS HHLLSDGLD, QLIS emen L LG,
LMIUTLPe] QFIIH6, BTG ¢ (HMHiFl6menTSs60 LoHmILD
HoU APINYUSDGLD 6THS5S HILLLD 2 HeyHme)?
A. Ujjawala scheme B. STEP scheme
C. Priyadasrshini Scheme D. DWCRA
Priyadarshini scheme provides:
A. Women Empowerment
B. Livelihood in Mid-Gangetic plains
C. Empower to address women legal, political and health
problems
D. All the above are correct.
NAlwgiafeh L Lb eupriiGHmg|:
A. Questrg et ifamyoeflsge0
B. nsHuw smiems swaiafsaflsh eurpeursmyn
C. QuesnsEh &G &L, TSI DHMILD HSHTHT
LN & & 6106071 & 6m 61T
8758 AHSMPLD 6aflG 60
D. GuGev 2_6item imeag I SHWTETEHE.

Which scheme promotes community participation through
involvement of Students Volunteers for empowerment of
rural women?

Symouym Questsamen GLOLUGSGIUSDSTS LOT6UT6U ()
SETRTTEU6VT &N FF(HL(H S GI6US 6T CLHEVLD SELHSLI

UIGa ML 2616 E6ilS @@L HLLLD eTg)I?

A. NAND-GHAR YOJANA B. eSamvad Portal

C. Pradhan Mantri Mahila Shakti Kendra scheme

D. She-Box Portal

When the seller manipulates the price, it is known as

A) Caveat Emptor B) Unfair trade practices

C) Restricted trade practices D) None of the above

afihusmerurery ellmeumd &SWTEHD CUTFI, 68

ANWLILGEDE! ?

A) aummiu@ueur seauefss B) Hlumwwmm eujsss

H6DL(LP MM & 61T

C) smLQFWIWILLL 61558 HEDL (LD & 6T D) None

Which of the following statements is not true?

(A) The institution of High Court in India was first formed in

1862
(B) Article 214 to 231 of the Indian constitution envisages
about the powers of the High Court

(C) Only Delhi is a Union territory which has its own High
Court

(D) Only Parliament determines the number of judges in the
High Court

NeiTeumLd FoMHMISefleL 675l 2 63T 6HLOIV60?

(A) @pHwraiso 2w BHLo6TMH SieMLOLIL (LPS6T(LPHETI6D 1862
60 2 HUT&HSHLILLLG]

24.

25.

26.

(B) @ndw 5&weoemLoliiler 214 (p&6L 231 euenyuilevmes
Nfleyser 2wy HH6TmS S6tT HH&MHIS e LHME
& M) &) 66T M 63T
(C) 196060 L BLD Q&MHS 2 WH BHHLOETME MG S G185 mevorL
w,eoflweir LNFCs &L
(D) 2wy BHweirm BHUSSeNetT 61 6vorevei s 6m & e
uTymEhLETMLD L GG SFwralsSmg)

How can the High Court Judge be removed?
(A) A resolution passed by the general majority of the
Parliament
(B) By the Supreme Court on the advice of the President
(C) A resolution passed by the special majority of the
respective state
(D) A resolution passed by the Parliament With a special
majority
2 wijhHweim BHUHemw eriivig HES (PiguiLd?
(A) umymepLoeiTmSHeiT AUITE QALIEHLOLITEITERLOILITED
HenmCoaummuuLl L SHLomerLd
(B) ®ywrss sameveulsir o,Ceomgemesruflesr GLifieo
2 §5HHL06TMLD
(C) 2hsHs LrHlevdHetT HMLIL QLIIHLDLIT6THLOWIT6L
HenmCoummuL L SHLOMeTLD
(D) Apiyl QUHLLLITETEHLOW|L 63T [HITLT(EMHLO6HT M & HeL
SFLOMEUTLD
BlenmCeumm UL L g

Who can be appointed as the chairman of the National

Human Rights Commission?

(a) Any sitting judge of the Supreme Court

(b) Any retired Chief Justice of the Supreme Court

(¢) Any person appointed by the President

(d) Retired Chief Justice of any High Court

Ca AW 6tflG 2 FeNLDS 6T 4,60 650TILISH SH6TT SEMELEUTTS WITEOIT

HwLdl &8 eomb?

(a) 288 GHHDEH6N THS @@ BHULHLLD

(b) 265 BHLMSSe PUIAUDY S0 LS

(c) @arrdudumed HWLN&SUILL L 6TiHS QAU (I, HL(HLD

(d) erieQeun @ 2w BHLosiTmSH 6 pila] QUMM &6M6eVmLD
SHuS

What is the tenure of the chairman of the National Human
Rights Commission?

Gy 6wflG 2 FleMLDS 6T 24656507 S H6TT & 616V 6 If 68T
UGI&STeVLD 6T 606012

(a) 5 years or upto 62 years of age

(b) 5 years or upto 65 years of age

(c) 6 years or upto 65 years of age

(d) 5 years or upto 70 years of age
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27.

28.

29.

30.

31.

32.

Which of the following is not the function of the National

Human Rights Commission?

(a) To interfere in the proceedings related to any human
rights violation case pending in the court

(b) Protecting the human rights of prisoners

(c) To provide Economic compensation to any human rights
violation victim

(d) Promoting research in the field of human rights

NetreumsuseummleL 1§ CHEAW 6l 2 FlemLos eit

94,6060 S F6T QAFWILLIT(H H6LEV?

(a) BHwetmEHev Msyismeuuilsdp 2 siren waflg 2 Memio med
QL& (G QABHTLITUTET HL6UIQ.& 08660 Gemeouil

(b) magaafsir afg 2 Neninsemanrts LImg)snsseo

(c) erhsQeun(m efg 2 feno WML LTS SLILLL 6, & @D
Qur@GerTHTy QLLNEH QULPMhIGS60

(d) wefls 2 NemLoser Giemmuileb o4TMiIEHeNW 2a1d G6NSS60

If Azhagan is 50 years old and his son is 10 years old then
the simplest ratio between the age of Azhagan to his son is
21 &6fl6tT euIWIG) 50 LOMHMILD 16T F) LOG6vil6 euwig) 10 eTeufled
SILP &6 LDHMILD 16U L0 & 6fl6T euwg & smer ailflss e
eTerfll 6uig.6ULD
a) 10:50
c)5:1

b) 50: 10
d) 1:5

If the ratios formed using the numbers 2, 5, x, 20 in the same
order are in proportion then x is.

2,5, %, 20 gp&lw eravnrsenen G euflensuilev LweTU® §E)
Simw|b & mser allég gwwms @ w6 x = 2

a) 50 b) 4 c) 10 d) 8

In a mixture of 60 L the ratio of acid and water is 2: 1. If the
ratio of acid and water is to be 1:2 then the amount of water
in (litres) to be added to the mixture is

60 e9ILLij Bevemeauuiléb Silev&HMmGLD 1f([H & GLOemL G 2_6iTer
all#gLd 2:1 94,GLD. SILHVSHDGLD B[S GLOleL Gl 2 6iTen
aHHHMS | : 2 94,658 Ceucuor(BLOMETTEL, &Heveneuuiley C&j&Hs
Ceuettmig .l & 6vorevafiflett Si6me (601L_LIfl6L )
a) 55 b) 60 ¢) 50 d) 45

In what proportion must a grocer mix wheat at Rs. 2.04 per
kg and Rs. 2.88 per kg so as to make a mixture of worth Rs.
2.52 per kg?

PR HMLESTIT €h.2.04/8).&). CHTGIEMLOMUWU|LD €m.2.88/&).&).
CanglemrsSHmauLd ehg allHgsHe SCeom SymblmnE
€5.2.52 QUMILOTET CHTHIMOMWS SWITT UG SS (LPIgULd?
a)2:3 b) 3:2 c)5:3 d) 3:4

Find the largest ratio among
4:5,8:153:10,1:2

SWs&enayib allflgniseafle BsLAUAWE) e gI?
4:5,8:153:10,1:2

33.

34.

35.

36.

37.

38.

39.

a)4:5 b) 8:15 c)3:10 d) 1:2
Three numbers are in the ratio 3 : 5 : 7 and their average is
60. Find the smallest number?

CLp6Tm)] 6TEsOT& 6N 3 - 5 1 7 eT6dTm NG SHH 60 2_6iterment. i6ubHlesr
gynafl 60 eTerflev, 16uCleuestr & arflev LAl&EFHMIW 6T6vor WITHI?

a) 36 b) 12 c) 15 d) 48

There are two mixtures of milk and water. In I mixture ratio
of milk and water is 5:3. In II mixture ratio of milk and
water is 5:4. In what ratio, these two mixtures are mixed to
get milk and water in the ratio 4:3.

urgILd HELd &HevHS Qb &6VMEUS 6T 2_6TET6. (LG 6D
Seuemeuuileb umeL, Hfler eNFFLD 5:3 eTeuaLd Q6ToTLmeug)
sevemeuuileb umeL, Hifler eNFFLD 5:4 eTeur 2_6iTeTH QW
S6VEmEUMWULD 6THS aNFFHSHEL &60HGTeL LITEYILD BHLD 4:3
6T6irm aiHSH60 Q5 GLD?
a)4:3 b) 3:4 c)3:1 d) 1:3

A mixture contains alcohol and water in the ratio 4:3. If five
litres of water is added to the mixture, the ratio becomes 4 :
5. Find the quantity of alcohol in the given mixture.

@ FH60maUUilL 9LELSHQMITEYILD &6vaTeuef (HLD 4 : 3

Q&GS SeVIETET6. 3188 606M6UW|L 65T 5 60ILLIJ
3LEBADTMEVE CEJHGD QUT(LGI, ONHHLD 4 : 5 P HMEI.
STUUL B 6ITOT &606meuuiled 360HAMDTESI6H JETENEUS SIT6TOTS.
a) 2.5 litres  b) 12 litres c) 12.5 litres d) 10 litres

A sum of Rs. 312 was divided among 100 boys and girls,
each boy gets Rs. 3.60, each girl gets Rs. 2.40. The number
of girls are

€. 31283 100 Lomevorey, Lomeworeilwy & & NS g6
QAsMTHR&HSUILLLG)|. (b LOTEIEUT &G €1b. 3.60 LD, (T
Lomewarail& (g €h.2.40LD HlenL & GHT6L LOT6vor eIl

6T 6501 6607185 61 & LLI T 60T G| .
a) 35 b) 10 c) 60 d) 65
IfA:B=5:7andB:C=6:11.Thenfind A:B:C.
A:B=5:7wpmd B:C=6: 11 ererfleb A : B : C &mevor.
a)55:77:66 b)30:42:77
c)35:49:42 d) ergiayLilsbemev

The present ages of Arun and Suresh are 24 years and 36 years
respectively. What was the ratio between the ages of Suresh and
Arun, 8 years ago?

S1([H680T LOHMILD &HCPe HHCLUTMSHW 6UWIG|&6T (PmHMGW 24
QUHLMIS6IT LOMHMILD 36 eu(HL &6 eTeufle 8 34,600T(H & (e & (S
(W6iTy &Creio LMHMID 160 61w )15 efl6r aNFIGLD 6T 65T 6o eUT S
BGHIBSGLD?
(A)4:7 (B) 6:5 (C)7:4 (D) 3:2
Raghul wanted to find the height of a tree in his garden. He
checked the ratio of his height to his shadow length. It was
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4 :1. He then measured the shadow of the tree. It was 15 feet. (A) 15 feet (2119) (B) 30 feet (3l1g)
What was the height of the tree? () 60 feet (3l1g) (D) 75 feet (2llg)
QI GeL BTG CHTLLSH6L 2 6T6m (b LOTSHH 6T 2 WTSHM S
Pl efl@oUlarTy. SILCUTE) Si6u] ST 2 WTSMSU|LD, 40. The equivalent ratio of 2 : 7 is
sag) Blipedisin Bersemsuwid slembg) 21g) 41 ersirm eSS Heo 2.7 eT6iTm N B HH MG FLOLOT6T QNHGLD
2 _eiTamemng SAMHST. Lsiray S Heir HlLpesler Heard 15 oilg a)4:7 b) 8:21 ¢) 6:14 d) 6: 21
eT6afl6v, LOG&H6TT 2 WIJLD 6T6HT60r? ' ’ ' ’
Answer Key

1. B 22. C

2. B 23.D

3. B 24. D

4. C 25. B

5. D 26. D

6. B 27. C

7. D 28. C

8. C 29. D

9. A 30. B

10. D 31.D

11. A 32. A

12. C 33. A

13. B 34.D

14. D 35.D

15. D 36. B

16. B 37.B

17. B 38. C

18. B 39. C

19. A 40. D

20. D

21. C
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